INSTRUCTION MANUAL
FOR MYSTERY SLIDING SOLAR CALCULATOR
PROBLEM DEPRESS KEY DISPLAY
(5x6-34):2+827 | [cerc]s[x]e[=]34[x] 2]
=6.27 8.27 [=] 6.27
a.  (1)5x6=30 s[x]s[=] 30
(2)5.x 45 =225 as5[=] 225
b. (106:6=1.2 e [=]s[=] 12
(204:5=08 4 =] 08
T 3% 2x52=0432 [cercis D EEE 2
s CIEIE 0.432
2[s[xsEMT
‘-,3.1:4‘7:55:47“5‘,i EE 0.1443376
a. 360 x 85% =306 360 [x] 85 306.
b. 360 x (1 +2%) =367.2 360 2 367.2
c. 360 x (1-15%) =306 360 [=] 15[ %] 306.




To Open, grasp calculator buttons with
thumb and, with other fingers under
calculator, move calcutator section with
thumb away from you and toward upper
right.



